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Solving Equations
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To solve equations, it is easier if you simplify both sides of the equation before you begin
to solve. Once both sides are simplified, then solve by isolating the variable. To isolate
the variable, first look fo see if you can add or subtract (a constant) to each side. Then
you will multiply or divide each side by the denominator or coefficient. Remember you
are using the inverse operation fo solve. Once you have solved, check your solution.

6x - 2(2x + 4) = 24
X - 4x -8 =24 distributive prop: —
simplifying
2x-8 = 24 adding like terms
2x-8+8 =24 + 8 equality prop. of addition (add 8 to each side)
2x , - =32 addition- additive inverse
> =g equality prop. of division (divide both sides by 2)
X =16  division ~ multiplicative inverse

Solve. Show your work (like example above..do not have to write down properties).
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